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21.

Find out ﬂ:-g:. correet indireci narration of the
following direet speech. )
John looked at tiic T4 and said "How
magaificenti”

(a) Jobhn i_(jﬂlkcd‘:il the Taj and told that how
magnificent it is.
(b) Jjohn leoked at the Taf and exclaimed with
surprise thai it was very magnificent,
(c) John Ipn'kcd at the Taj and usked that how
magnificeit,
_A{d) None of the above

22.  Correct the foliowing expression.
Both he as well as his son were present,

(a) Botit, he and his son, was present. *»
(b) Botir of them he and his son were
present.
~(c) Both he and his son were present.
(d) Boti he and his son fas been piesenl.
23. Change the given sentence into passive voice.
Everyone foves him.
_(a) Beisloved by all,
(bj He ioves everyone. °
(c) He was ioved by everyone. 4
(d) Heis loved by everyene.
24. Seiectohe word as an appropriate meaning for
the given word ‘Vanda!' from the following.
(@ Cne who destroys works of ari.
(5) One who creates works of ant. *
_(c) One who does not mix freely with others.~
" (d) One who is present svsrywiiers. -
25. Choose the correct meaning of the Phrase
w3y

Zerg hour™,

_Aa} 120 clock at night. -
{b) The hour when an operation begins, ~
(¢) The hour when the sun risss. =
(d) The hour when the sun seis, ™

Insiruction for Question Nas. 26 to 30,

Read the following passage carefully and answer the
questions that foilow.

Travel, in the younger sott,is 2 part of education: in
the elder, a part of experieactl He that travelleth into 2
country, before he hath sume entrance o ihe language
goelh 1o school; and not to trayel, That young men trave!
under some tutor oF grave servant, 1 aflow well; 50 that
he be such a one that hath the fanguage. and hath hean
in the country before:, whereby he may be able m“"v‘;
thern what tnngs are worthy to be seen in the c\'.‘ll.l‘ﬁ‘;r"‘
where they go, what acquaintances iney are 1o seek.
what exercises of discipline the place yieldeth; for elea
young men shali go hooded and look abroad tiile. 1+ ':E
sirange thing, (hal in S€2 Voyages. where there is nothis .
16 be seen but sky and 5¢a. men should make dis: 5
but in lang travel, where in
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i tion: let diaries, therefore,
registered than observa .
:10 I?be,»ougeh'. n usc. The things to be scen.handi?lzsen(ed
_‘;'c the courts of princes, qspecmnly w _cn[._ y ;%..vle
zuciir-ncc 19 ambassadors; the courts of Justice, wnile
thev sit and hear causes.
&

26. Who tells about ihﬁ.thiulgs to be seen in the
ountry onc is travelling *
;(a) ybun;g men (b) eider pe_ople
(c) tutor (d) stranger
i importan avelling in a country ?
. atis NOT Im t for travelling in a count
= \z}; knowledge of the language of thai C()uﬁ(i’y‘
(b) diary
(c) company
the place
Ad) company ot the
28. The grave servant accompanying the traveller
must have
- (a) already visited the country of the travel
(b) acquaintance with reputed persons
(c) undenaken sea voyages
() knowledge of keeping diarics

of a person who already knows

family members

29.  One shouid visii the couris of princes when the
princes are
(a) dinning with ambassadors
_{b) listening 1o ambassadors
{c) instructing the ambassadors
(d) talking to ambassadors

30. Who learns from travelling ?
(2) old persons (b) tutor
{¢) young men (d) grave servant

31.  Choosethe correct part of speech/viord class ot the
word “interesting”” In the foliowing sentence.
This boek is interesting,.
(a) auxiliary (b) adverb
(¢) adiective (d) noun

32

2. Which of the foiiowing is wrengly spelt ?
(a) Hopeful () Truel
/(c) Wholly (d) Awru

Fill in the biank in the given sentence by
ch_q,os"!g the .co-r!‘t;:Ct Op(lorl.
Put______theclock, itis twenty minutes fast.
(2) u?. &(b) down
Choose the correct option,
Th;.s Pin ismuch _____than that
(a) cheaper (® more
; ec
(c) the cheaper cheap:gtc e
Change the foll
sentence.
‘Tl‘\l_(} Iustitution is as bad
(a) ‘The lnstitute is thorg i
titute ughly bad,
(b) The Institute: is siy baj that *3/(- cannot li
‘(3 :Il“l:c Jnsmm 15 too bad 10 sZny a;lyihrc‘
( 2 Institute: | it
utute 1s not only bad but yiso £

33,

34.

35. owing sentence into a simple

as it could be.’
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36.

37.

39.

40.

41.

42

43.

Which of the following statement is NOT comect 7
(®)  All men arc monal,

(b) Some clephants have trunk, —
(¢) No man is perfeet.

Ad) Al roses are rey.

Choose the number which is different from others.
(W 27 (b) 64
(c) (d) 144

C?psldcr lhg fol!owing statements regarding
major function/functions of communication
within a group or organization,

1t acts of control member behaviour,

It fosters motivation, -
l~l provides emotional
feelings.

4. It facilitates decision making. .
Schot the comoct answer using the codes given below
Codes :

(@) 3 alone

(c) 2and 3

125

b N —

expression of

{(b) 2.3and 4
Ad) 1,2,3andd

1f in a certain code COMPUTER is written as
BNLOTSDQ, then which of the following code
would be written for. SOF /ﬂt\RE ?

(a) RNESVBQD (b7 ‘RNESABQD

(¢) RNESABCD _(d) RNESVZQD

Select the one which is different from the other
three.

() 398
(c) 885

(b) 579
(d) 696

Another name for interpersonal communication is
(a) Mass communication

(b) Dyadic communication

(¢) Triadic communication

—d) Permissive communication .

In interpersonal communication the functions
of source-receiver are performed by .

(a) Otherindividual (b) Each individual
(c) Third party (d) Neutral party

A mother is 4 times as old as her dnuihler%rr:g

the father is S times as old as his daughter.
sum of mother’s and father's age is ?35 years:
What is the age of daughter ?
(a) 10 years «b) 15 years

(c) 20 years (d) 25years
"

36.

37.

38.

39.

"
.

40.

41,

42,

43.

“(a) RNESVBQD
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44.  Which termi s
colours ?
(a) chromatic
(b) monochromic schedule

(¢) polychromic sched |
(d) chronemics e

used for Communication through

45. An individual's ability to communicate

clfectively with others is called
(a) Interpersonal reframing
(b) Interpersonal dualism

(¢) Interpersonal competence
(d) Interpersonal comfon

46.  When you become “other oricnted”, you
(a) consider needs, motives, desires of others
while maintaining your own integrity.

(b) encourage others to give you direction.

(c) take a submissive position in your
relationship with others.

(d) assume that others are always right.

47. Raman runs faster than Mohan, but not as fast
as Kareem. Kareem runs faster than Suman, but
. notas fast as Abhinav. Who runs fastest ?
(a) Raman
(b) Mohan and Kareem

| 7"
\_A%) Abhinav \“ 'a'[‘m

d) Suma
(d) man s

48. . An overiding element of consideration in all
interpersonal communication is
(a) Flexibility (b) Abstraction
(c) Displacement (d) Context

49. Which one of the following may be harmful in
terms of effective decision-making by the group
members ?

\(2Y" Extreme cohesiveness
(b) Commitment for the goal
(c) Honesty and credibility
(d) Effective training and experience

so. Forany two sets A and B, A - (A ~B) equals to
(a) AnB (b) A-B

yA€) B

(d) AUB .-

LD
40, it 3 35 o s e T e

45. @ﬁ%mammmdﬁ%maz%ﬁ
O FHEATd!
(a) IraafaE @A
(b) HAFafRF FaaR
_(c) Safas qara
(d) F=aafds geedl

46 F@ ¥m '‘w= Fyfy=fEa’” 9w €, @ 3

(a) ¥ g i 7T @A gL H A
) anarEFA, Jonaai, 7o F ar o
fram v &

(b) 3T AfRET & Ianfka A & fH I M H
Fm R a |

(c) 3a =Rt & Wy 3w ey & & famm
RfvaTnaa t)

~(d) TAMEF TR AP

47. ol ww, 3 A AR Az @, A FM A XS

6 | %0, ] A B, afd e @
UKL R ARSI,

(a) TR

(b) WA 3R Fw

~—(c)
(d) A
48. WRW FA<SafRE AT F) 3T fHEnefa
L RAGIA
(a) rerefreran (®) 3
(c) e =(d)

49. FPrefafe 4 & F-w g agat T
fyofg-famior & v & wfens A gFar e ?
_ (a) = wEfRmfiern
(b) @& & wi Fdoy
(c) $Amer o et
(d) STt STRETT AT STgvE

50. A wg==al A 3B & fg A - (A - B)aTR

(a) AnB (b) A-B 9
(c) B d Avu B ab* *
N

qu"’) b,k
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51. The difference of median and mode 0 ¢
following data :

P P Id c 7
35.°3%, 727 65. %9, 60, 30, 5. 39, 3. 45
52, 42, 51, 42, 48, 45, 47, 40, 33 is

¥4 S (8 P PR RN .

—@ 35 (h) 4
() 25 (d) 3
52. In which century February will have 29 days
" from the following ? c
(@) 2213 . Ab) 2300
(c) 2215 (d) 2517

53. Ifthe costgn'ce of 10shirts is equal to the selling |
shirts, then which of the following

price of 0
1s true for the transaction .

~(a) Profitof 25%  (b) Lossof 25%
() Profitof20% = (d) Lossof20%

54. Choose the odd pair. _ N
w)/ Ball - Bat .-

(a) Bottle — Wine
() Cup - Tea (d) Pitcher— Water

L}/ Each of the sides of a triangle is 4 cm less
than the sum of its other two sides. Area of the

triangle (in cm?) is

@ 23 (b) 443 . ©
: NS : Pl "[>
(C) 2‘!5 PR (d) 4‘/5 I bafb

c?
56.  The first step in decision making is to

(8) establish prioritics
(b) establish specific gouls
~(C) identify and define the problem
(d) determine courses of action
Two numbers are such that their sum, difference

andgr?duct arein (he ratio S:1:18. The difference
of their squures is
(b) 45~

(@) 36
(d) 54

(c) 42
. - Ifx~2isa factor of polynomial x3 + 4x2— 3x - 18,
then its other factors are
@ x+2,x+3 (b) x-3,x+1
) x+3,x+3 (A x+1,x+2

\/S].

S8

9. That new student says that I am his favourite
professor and he must be telling the truth, because
no student would lie to his favourite professor-
Identify the fallacy involved in the passage-
(a) Complex question (b) Accident

(c) Petitio principii Jd) False cause

Sl.

52.

53.

54.

5S.

4, .
S

X
ssv” 6.

57.

58.

39.
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%;%2;2.&?43;5. 47, 46, 33%51::3?6:;}
(a) 35 (b) 4
() 25 (d) 3
ﬁq%%aﬁﬁ%amﬁmﬂﬁzgﬁqﬁﬁ?
(@ 2213 (b) 2300
(c) 2215 d) 2517
AR 10 T =1 3031 =g g & ,
JARE , & ﬁq%ﬁg}?ﬂ %?s:ﬁ %zéa%?ugg
(@) 25% w1aM (b) 25% RN 7A
(c) 20% F o™ (d) 20% R &f3
forem qm ) g |
(@ @ -3R0  (h) ® -

(€ =TI (¢) T -
W Pha ) vd% o 3w 3= Q) et

FETEd F AR 4 E A, 7w Y | e 1 S
@ahd) g

() 243 (b 43
) 242 (d) a2
oty 3 = Txen T R

(a) WuREwmaT = =nfie w5
(b) faftre Aet =) wfg =@
(c) THE1 Y TEIHAT T IR Fo
(d) Fréfafta i Pyt s

aé@uﬂmmﬁ%mﬁn,a’m@mm
5:1:18%a3q:aﬁ!|maﬁmm% 9
(a) 36 (b) 45 S
(c) 42 (d) 54

If x} +4x2-3x ~ 18 F TH EEE

X — 2§, & 39& I UG §

(@) x+2,x+3 (b)y x=-3,x+1

(¢) x+3,x+3 (d) x+1,x+2

T8 391 T3 Figan £ i & I g mems g 3k
it rd v faemdt

IFH I1d a7y & | arfl,
373 Ry wreamgs § = g8 ¢ I |

* maty & ffta 7l ) qgaifAl

(a) B39 ()

(c) IF® (d) e
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60.

6l.

62.

63.

,(c) 72°

In a test in Mathematics, 20% of the students
obtained “First class™. If the Data are represented
by a Pie-chart, what is the central angle
corresponding to “First class” ? W
(@ 20° (®) 36° M
(d) 144°

The total number of triangles in the following
figure ;

Which factors influence the choice of
communication partners ?

(a) Proximity, utility, loneliness

(b) Utility, secrecy, dissonance

(c) Secrecy, dissonance, deception

(d) Dissimilarity, dissonance, deviance

The length of a parallelogram is 17 cm and its

v~ width is I'1 cm. One of its diagonal measures

64,

66.

26 cm. The length of the other diagonal 1z
(@) 12cm (h) td4cm
() 16cm (d) 17cm
Find outthe missing number from the following

R TANIRY
3,5.5.19,.7,41,9,?_ ,.
@ 6= (b) 71 -

© 7 (d) 69

The HCF and LCM of two numbers are 12 and
144 respectively. If one of the numbers is 36,
the other number is
(a) 4

(c) 72

(b) 48~
(d) 432

Which of the following decision making
technique involves structured rules for
generaling ideas ?

(a) Brainstorming

(b) Delphi technique

(c) Nominal group technique

(d) Ordinal group technique

6l.

62.

63.

<1 7

63.

65.

i ) T whe #, 20% 1 Tm A’ g
F@ § 1 aR 70 ) T 9ré 1 (FTRG) T e
o 2, @ Yo ooft’’ & W FE A
Fe?

(@) 20° (b) 36°

(c) 72° (d) 144

13 4 e g 8 ot P g @ 7

(a) 15 (b) 12

(c) 13 (d) 16

vm st F @ R S Z1 e
e ?

—a) wf=e, uaifian, ke
(b) 3Iuaifran, e, rEaRaE
(c) T, yywaem, o
(d) fawwen, sr@anRan, fagew

& AOid IR i s 17 §.4. @ ol 3w
Pz 11 A, ¥ | 39F o fawol A A9 26 7.7,

9

2 | Zwt R o o 2

(a) 12¢.7. (b) 1481
(c) 1684, (d) 17 &1,
frafifen a8 g de 31 Ffg |
3,5.5.19,7,41,9,7?

(a) ol (b) 71

() 79 (d) 69

R FEaii A HCF 3R LCM 5 12 3k 144
%mﬁ@m.mt,a}zgﬁme

(a) 4 (b) 48

) 72 (d) 432

frefaRea # @ fiem fivfa Ao qede # R
FATE A % R g Frag wwfeq @ &
() FENT

(b) 3FH dF:f=w

(c) T Qg AFfrT

(d) Fis oqg a5 dts
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67. If radius of a circle is increased n 10%. Arca aftfr & 10% E 3fa & 91 | 39 F e TR
that its circumference increases by 10%: P a3 7
of circle will be increased by @ 10% b) 12%
. 12%
:“; ;I)Z' Eg; 2% (©) 21% d) 24%
c ]
- . pin 68 a8 7~ TR i 2 S g g |
68. The mental function which does NOT help | iy
problem solving is !(lag)l S E;“”; i
(a) Hypothesis formulation TR
(b) Functional fixedncss ((2; SFTafcr e
(¢) Insight 3
(d) Means-end analysis (d) &= m:ﬂ ferdror
. 3 o
69. The expression 2x + x2 - 2x — | is divisible by 69. =I9H 2x3 + x2-2x - | fanrsa
(a) 2x+3 kb) 2x+ | (a) 2x+3Q (b) 2x+ 1@
(€) 2x-3 d) 2x-1yp (c) 2x-33 d 2x-13

faFTa 49 ol ) vk FE @ 184 FH R nfahh

70.  Vikas ranks 18" in a class of 49 students. What ~ 70.
AIEFFA AR 7

is his rank from the last ?

(a) 19 (b) 3l (a) 19 (b) 31
© 32 d) 33 (c) 32 (d) 33
7. Statement : Should school education be made ~ 71. I : 31 wrd AR v A RIFh o e amee 7
free in India ? & [ o, g & ' H gura & 96
Arguments:I. Yes, thisis thc only way to A 9T 2 |
improve the level of literacy. - aifds 2 ™ @ it A
II. No.,itwilladdtothealreudy heavy v . :g R agmqlgé
burden on the exchequer.
Select the correct answer from the codes given it ﬂqﬁﬁ |El IW §'=q :
t;el)owo: (a) ¥IA T | yaeA @1
a) Only argument | is strong. Faa
(b) Only argument II is strong. (b) T 15 81
(c) Neither argument I nor Il is strong. (c) ATH & 13T 7 Il vt B
_(d) Both argument I and II are strong. (d) 3T 13wl Il Yot B
72 Ratanis 40 metre South-Westof Pawan. If Lalan ~ 72. T, 78 ¥ 40 Hiex alm-ofRm # 3 | 2R M,
is 40 metre South-East of Pawan, then Lalan is qaq & 40 Hiew 2o -gd # 2, &t oo, WA F e
in which direction of Ratan ? N RmaR?
(@) West (b) North-East (a) ufem (b) IW-yd
(c) South Jd) East £o) @ o
: oL
7. Wh'd"med@NOdeongtoﬁt following group 2¥4—33—Bwfifir= TEdF-mEE TR ?
(@) Eyes (b) Ear (a) 3f@ (b) ®M
(¢} Tooth (d) Chin © =zt @ @
M. What is th . Ayl )
-48, ;;6: ;“:u]j]za; 03f ;hi; “2“'2“’; ;'65 0‘,95’ 74. WEM4.6,0,9.3,-4.8,7.6,2.3, 12.7,3.5,8.2,
@y 33 c e oA 332 6.1,39, 52 fimferamr &2 7
© 57 ) 49 (a) 3.8 (b) 4.9
: d) 6.0 (c) 5.7 (d) 6.0

B - e v A G ¢ L
-9.

L

-.b ——
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75. The essence of decision making is
/ (a) Problem solving
(b) Choosing between alternatives
(c) Devcloping alternative coursc of action
(d) Monitoring

76. The following Pic-chart shows daily hourly
distribution of various aclivity (in dcgr?c—)'of
student. How much time (in %) does he spend
in game in comparison to slecping ?

(a) 10
_(c) 25

77. Consider the following statements :

There are six villages A, B,C,D, Eand F

Fis | km to the west of D

Bis | km to the east of E

A is 2 km to the north of E

Cis 1 kmtotheeastof A

Dis | km to the south of A

Which three villages are in line ?
(a) AC,B Ab) A.D.E
() CB,F (d) E,B,D

78.  The study of tempora) communication is known as
/ (a) Proxemics (b) Kinesics
(d) Chronemics

79. The sum of the three prime numbers is 100. If
one of them exceeds another number by 24, then
one of the other number is

(c) Paralanguage

_(a) 7 (b) 29 »
© 43w @) 6l
A . C

T

(a) FHE HAHH i
(b) fordl ¥ HeA = FC

(d) A
: ﬁﬂﬁmqﬁ-ﬁwﬁmzﬁﬁuﬁﬁaﬁ&q
= &maﬁﬁauiﬂam%ﬁﬁﬁ(ﬁ-’!ﬁﬁ)m%l
mﬁhﬂwﬁﬁeﬁﬁmw(%ﬁ)mz?

(a) 10
(c) 25

(b)y 20
(d) 30

71. PR ovel w faar fifk
A.B.CD.Edum Fo: nla &
D¥ | f&dt. sfemIFR
Ex e, qddBR
Ex2frdt. smiAl
A¥1fsf ddc?
A% | fEft s DR

W HFAMA GG TR AT DR E 7
(a) A,C,B (b) A,D,E
(c) CB,F (d) E,B,D

78, T WS F] NEFTT A A4 2

(2) MR FTY (b)) FRRFWF A
(c) WA F T (q) b Fwad

79. RN TS F AN 1002 | RIHA @

FEA TR & 24 3 B, 39 A 7wt v 2
(c) 43 W) 6l



80. The Golden Rule is basic to every system of

. N itin
cthics ever devised and everyone ncccpls_.“bl
\/ some form or other. It is, therefore, undeniadly

sound moral principle.

It involves the fallacy of

(1) Argumentum ad Populum

(b) Argumentum ad Verecundiam
(c) Argumentum ad Misericordiam
(d) Argumentum ad Ignoratiam

81.  Which one of the following is NOT a rule
/for estimatings the subjcctive probability of
outcomes of any decision ?
(a) Assessing utility
(b) Representativeness
(c) Availability
(d) Adjustment

82. Argument -
\/ All Indians are religious.
All Painters are religious.
« All painters are Indians.
It involves the fallacy of :
(a) Division
(b) Existential .
(¢) Undistributed middle
(d) Fourterms

83. If in a certain code ‘DATE" is written as
*WZGV", then which of the following code
would be written for ‘COME' ?

(@) XLNV (b) LXNV

(c) VNXL (d) XLVN
84. What X in second tigure ?

\{‘QE.';]:_ w[17a]  vs[i84
N\ L) [ ) = 1]
) 267 Y 21 € T
() 28
2B

83. How many numbers from 11 to 50 are divisible
by 7 but NOT by 3 2
(© s d) 6
86. i
0. Aisricherthan B, Cis richer than A, D is richer

an C, E is richest than all. If they are made to

Sitin the above degree of ri ill have
t(’e] cexlm posiliogn 3 richest, who will

a
(b) B
/ ( Py \11—:‘\9 '; 9,

I i B

80.

82.

83.

84.

85.

86.
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Meeq & - wawg Pag-Hfdwme ) & voneh §
At B ? et R A s i A =fem
% | 379; 7§ HFII ¥ & = o Rg= @
7ai fafed add @

(a) crRIASTH

(b) #&rIH

(c) TIAHTH

CREEIEEGED

Rafiaa 3§ & -1 o et favfa F wRom )
FfRfIss aeTead % J¥F0H w Fan TE R 7
(a) I99fvan 1 TS

(b) sfafrcarmsa

(c) Igcrsudl

(d) =

g

aft yrdtg wififs &
™ =R ufifs &)
<. T TR v §
i Afta ade @
(a) fauw

(b) ®AIWH

(c) ST TEIR UZ
(d) T

R Rffa g DATE # 'WzZGV' Rman
s &, @ P=feafaa § @ e Az 'COME’

FRofa ot ?

(a) XLNV (b). LXNV

(c) VNXL (d) XLVN
wPmAxwt?

119 114 184

17 | 21 x 18] [z 24]
(a)- 26 " (b) 27

(c) 28 (d) 29

118 50 % e el S At & <t 7. fangrey
2 og3afraadi § 7

(@ 2 b) 4

() 5 (d) 6

A.BR it ?, C A @3k}, D,
Ea@mmalmwﬁgq%;mg

mﬂ@mma‘?ﬁ:&mmmﬁm
@ A (b) B -
(c) D d) C S Ak

—oa.
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87.

88.

89.

o

91.
N

92.

93.

In a Zoo, there arc rabbits and p,igcons. If heads
are counted there are 200 in all and if legs are
counted there are $80in all. How many pigcons
are there in the Zoo ? :

() 90 A6) 110

(c) 121 (d) 130

In which of the following decision making style
low tolcrance for ambiguity is found ?
(a) Analytical style (b) Conceptual style

(c) Directive style (d) Nonc of the above

According to “communication as interaction”
perspective, feedback is

(a) never intentional.

(b) always intentional.

(c) seldom useful.

(d) sometimes unintentional.

In casc of complex problems group performance
is higherin

(a) Centralized network

(b) Restricted network

(c) Problem oriented network

(d) Decentralized network

A sum of ¥ 12,000 deposited at compound
interest becomes double after § years. After
20 years, it will become

(a) 96,000 (b) T 1,20,000

(c) ¥1,24,000 (d) T1.92,000

Choose the odd one out.

(a) BDG6 (b) FH 14 -
(c) JL22 2Md) NP 3|
o vV re b

What are the bamiers to effective coinmunication ?
(a) Moralising, being judgemental and
comments of consolation
(b) Dialogue, summary and self review
(c) Use of simple words. cool reaction and
defensive attitude
(d)

Personal statements, eye contact and
simple narration

94. . A groupeffort of generating altenative ideas that

vd

can help a manager solve a problemis called
(a) The Delphi technique

(b) Out of the box thinking

(c) The nominal group technique

(d) Brainstorming

-12-

87.

88.

89.

91.

92.

93.

9%4.

T

guia 3 13k JTF R
S‘mgmam@mo%maﬁm
ﬁﬁmmgﬁmﬁWSSOm\'ﬁ
b ﬁﬁmg? (b) 110
2; 121 (d) 130
mwmﬁﬁﬁaﬁm%ﬁﬂ
fre weagtter avdl s @ 7

(a) Wiﬁﬁ (b) FegaTe e

(¢ Afurems et (d) &
e 7 Gem e 3 wRGa 3 TgER Sfagfe
(a) #f FREA TN |

(b) WA TR TN R |
(©) Te & Ff emier: B & |

—d) N dguzaT i@ |
A TRl 6 R 1 ang A S e

(a) g Fead A
(b) wiaafa dzad d
(c) WARI@ TS §
(d) ¥fadzadd

TFgfe = I T T 12,000 R vEat

s 4 & gt B et 2 1 20 T @R, Fe vl St

(a) 96,000 (b) % 1,20,000
(€) T 1,24,000 @ T 1,92,000
2 = g

(a) BD6 (b) FH 14
) JL22 (d) NP3]
T FE F v TR 7

(a) ffrgaem, fokg i
a AL @& B 3R i werh

(b) ¥, WR 3k 3TTew wHfa
(c) T YT Y, e S e e

(d) fRH TR, TR e 3k Tq avia

R GRS EL S S ——

gmﬁ%mﬂmﬂﬁﬁmw%.

@) T TEhE
(b) R 3t frmrg

(c) T TR gt
(d) zaa\%gg



I

95.
95.

Consider the statement
Do Scientists helicve in religion ?
1. Yes. becausc science, i profess!on.
Joes not come in the way of faith.
Il No. because reason and faith do not B0
together.
Codcs :
(a) Onlyl
(¢) Bothlandll

(b) Onlyll
Ww Either I or 11

96. 1fROSE is coded as 6821, CHAIR is coded as

73456and PRECH is coded as 96143, what will
be the code for SE‘A%CH ?
_ (2) 214673 LM% (b) 214763

(c) 264173 (d) 216473

96.

97. ~Which of the following does NOT characterize
grapevinc ?

(a) There is freedom to move in any direction.

(b) Ris likely to satisfy group members social
necds.

() Itiscontrolled by management.

(d) ltislargely used to serve the sclf interests
of people in it.

97.

The context of face-to-face communication is
(@) Archetypes

(b) Synchronous

(c) Asynchronous

98

(d) Both synchronous and asynchronous

Given that

99.

A is the Brother of B
C s the Father of A

D is the Brother of E
Eis the Daughter of B
Then, the uncle of D is
Aa) A

b) B
() C (

d B

| January 1995 was Sunday. What day it was
on | January {996 ?
(a) Sunday <~
(b) Monday,_~
(c) Wednesday
(d) Salurday

100,

LI
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100.
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T FYA T eEm AR
T A3RF v f Rrara wa € ?

1. #, Fiifw forgm, o oo & 9 amen &

TR & 7 e

1. 38, % ud amen 2 ek w78 o7 |
L T4
(a) ¥
(c) a2t

(b) FAII
(@) I NeEII

AR ROSE & 6821 47 #13 &, CHAIR &t

TS 73456 & 3 PRECH &1 12 96143 3, A1
SEARCH #1 ®18 &1 @ ?

(a) 214673 (b) 214763
(c) 264173 (d) 216473

AR (Tara) A fafafea § @ $F-9

fadmardi e ?

() TR ARmAITR AR

(b) TE AR TEE 6 AMIFIF JaTEFA R
HIR T Y I BT @

(c) T8 yaua 3 A dm R |

d) R MR FT- RIS
== A vgmdme |

TR -FEA F TN 1 He A1 &
(a) HRINEY

(b) wawfes

(c) Fgeahieien

(@) il 3R sgmw T A4t
Ife

AVE B FT

CRagA=

DYERE®

EFiEB A

A, DI IAR ?

@ A (b) B

(¢) C (d) E

| 5920 1995 H Faam o1 1@ | S0
IS 1996 |
(a) TaER

(b) WHER

(c)

@ S



